A
dA
M~ | M
|B xdy c ;
A ===/’
P 7/
_7;—J_y_9ﬁ"_

o 2
AN

11

1.2

(neutral axis)

ds

(neural

surface)

1



< di

ds

8=PQLPQ=@+yMFpm=1

PQ pdi
c=Ee=Ey/p
(y=0)
dA
[odA==[yda=0
A p A

p

J.ydAzo

1.2

(1.1)

(1.2)

1.1

(1.3)



I=J'y2dA
A
M = E i_M
p p El
@4 |
1/p El

flexural rigidity
(1.2) (1.5) E p

(1.4)
(1.5)
(1.5)
El
El
(1.6)
M



y= _hz G,
M M M M
o, =Th1 =Z_1 o, =T(_ hz)=_z_2 (1.7a,b)
Z, =1/ Z,=1/h, (1.8a,b)
Z, Z, (modulus section)
(1.4)
1.3 b h .
Z '
dA = bdy (1.4) Ly oy
3
B 248 (M2 5 B i 3
[, —J;y dA—j_hlzy bdy—lzbh (1.9)
(1.9) z z



!

z

~h/2 hi2 h
I, = [y*da=["y?bdy = Zbh® (1.10)
A 0 3
1, 1, U(=h12)
A =bh
> 1 3 > 1 .3
|, =1,+A¢* ==bh®+bh(h/2)° =Zbh
12 3
y 1.3
dA = hdz
3 2 B bi2 _i 3
1, _.[z dA__[_Wy by = hb (1.11)
1.1 y y
1.4 Z |20 12!12 i.IT ! 20
3
o TN
wl 1|f | 13l |
A: A z
7! 15 15 z' 12
y @ ©)
1.4



!

z

11

L 2 AY 4418

XA

207

= 21.3(mm)

z

di(=yi-2a)

I, =2> (15 + Ad?) =2x4548x10* =9.094x10* (mm*)

1.1
z z
i A Yi | AYi di | Ad? I I+
2 4 2
(mm<)| (mm) (mm) | (mm*) | (mm?) Ad;
(mm*)
60 38.5 2,310 17.2 17,750 | 20x 3 3 /12 1.780
=45 x10*
111 18.5 2,054 -2.8 870 3x37 3 /12 | 1.353
=12,663 x10%
36 1.5 54 -19.8 14,113 | 12x 3 3 /12 | 1.414
=27 x10%
> 207 4,418 32,733 | 12,735 4547
x10*




1.2

y
1.2
y
' ‘2 ‘2
A Zi Az, lyi Lyi + AZ;
2
(mm?) | (mm) | (mm*) (mm*) (mm*)
60 22 2.904x10* | 3209/12=0.200><104 | 3.104=<10
111 135 2.023x10% | 37>3%12=0.008>104 | 2.031>10*
36 6 0.130x10% | 3x123/12=0.043>104 | 0.173>10*
> | 207 5.057x10* 0.251><10* | 5.308>=<10%

I, =22(1,; + Az?) =10.62x10" mm*

r+dr

15

d |
P ~
B gm .
Yy
dA = 2zrdr | P .
1.5

d/2 1
I, :J/;rsz:L r227crdr:3—2nd4 (1.12)



15 r’=z"+y?

" :jrsz:j(y2+z2)o|A:|Z+|y
A A

(t/r,)<< (1.16)

(1.13)
(1.14)
d,/2 d,/2
(1.15)
t=r,—n
) (1.16)



1.2
1
0
6=0 90
1
Iz=m’m3t
o ax = Mmax
Y,z
&=ysinO+zcosO
n=Yycos0—zsinO

n,&

(1.17)

P B
M__ =—-p/, |

max

(1.17)

Z=1,1y= (nrmgt)/(— r. cosé)

1Z =(ptcosd)l(ar,’t)

1.6

1.6



I, = [€°dA=[(ysin 6+ zcos6)dA

A A

=sin? ej y*dA + cos? ejzsz+ 2sin ecosej yzdA

A A A

=1,sin?0+1,cos* 6 (1.18a)
I = [n’dA= [(ycosO—zsin6)’dA=1,cos* 0+ 1,sin’ 0 (1.18b)

A A
I :J'nadAz.[(ycose—zsin 0)(ysin 0+ zcos0) dA

A A

=(I,-1,)sin6cos0 (1.18c)

1.7 r, (=300mm) t(=1mm)

11
M, (=1x10°N -mm)

10



d=ry=r,—-t/2-(40-21.3) = 280.8mm

I, =1, +Ad?=9.094x10" +2x 207 x 280.8°

=3.273x10" mm*
0=n/4 (1.18b)

!

l,, =1,0c08°0+1 8N’ 0 =(1,,+1,)/2
— (9.094+10.62) x10* / 2 = 9.857 x 10*
Ad? =2x207x (1, /42 ) = 4.14x10% 1992 =1.63x10’
|, =1, +Ad?=9.857x10° +1.63x10" =1.64x10" mm*
IZS
5 =1, =10.62x10*mm*

(1.17)
|, =nr, *t =1x300° x1=8.48x10" mm*

IZ :2|21+4|Z2 +2|Z3 + IZ4
=2x3.273x10" +4x1.64x10" +2x1.062x10° +8.48x10’

=21.61x10"mm*

11



M, 1x10°8

Oxmax = M

%300 =138.5N /mm? =138.5MPa

I, ™ 21.66x10’
& min = ~138.5MPa y
dA
y
0Kz 2 z
M,
1.8
y . b,
' M
M. .M
e 18
(X,Y)
GX
oy =My 2, (119)
I 1,
1,1, (1.9) (1.11)
M,.M,
18 v,z (1.19)
( 1.9)

(semi-monocoque structure)(  1.10)

12



1.10

1.9

AX

(1.19)

£
of

P(

—a

1.11

Smax

X
X, X&
(1.2)

X

1/ r, 1/ re

13



o, =—n+—¢& (1.20)

n,&

E E E, . E
M, =] o&dA=—=] nedA+ =] g%dA=—1_+=1,
r, re r re
E E E, E
M, =jonndA=r—jAn2dA+r—jAn<: dA==1.+=1,
n g n g
In:J‘Aasz |é=jAn2dA n ¢
|, = [ nedA /r, 1/r,
(1.20)
G, =&n+ My g (1.21)
Lo,
— M (1 M, — M, (1 /1M
M é: — € (27]& Tl) n M n — n (2 ng é) € (122a,b)
1-12./(1,1,) 1-12./(1,1,)
n-§
(1.21) ¢

14



(1.21) (1.19)

(121) o,=0
Y M, /El
N=-f—"=- (_" ) (1.23)
M, (M:/EL)
1.11 0-¢
0
Ml Ml
0=-J_tan?'—"° S tanf=— "% (1.24)
el Mel,
P(n,%) S 1.11
(1.25)

S =ncosO+E&sinO = cosO(n + & tan 0)

(1.21)
M Y
o, = e gt
I, M.l
(1.24)

15



M
(m+&tan®)  (1.25) S cosf= 1{

S
111 Smax ) Smin
y'
rn Y

y' 7—/ &)

<23 o/ &

% | .

[0} 7' 7

1.12

16

el

JQ

(1.26)

(1.26)



1.12

dA
A= [[dA
S, =[[zdA s, =[[ydA

ly =[[2%dA 1, =[[y?dA 1, =[[yzdA

Yo=Sy /A z,=S,/A (1.27)

y' noz 4
=2z, m=y'~Y,
|, =[[e’dA=[[(@'-2,)%dA=1,-22A
I = [[n*dA=[[(y'-vo)*dA=1, - yiA

Le = [[nedA=[[(y'=y,)(@' = 2,)dA= 1, +y,2,A (1282 o)

ng 6 Yy, Z

112

y =mcos0+E&sin0 Z=-nsin0+&cos6

17



I :”ysz:”(ncoseJr&sin 0)*dA
=1,c0s’ 0+, sin*0+2I.sinBcos6
=(l.+1,)/2+(.-1,)c0os20/2+1 .sin20

l, :”zszz”(—nsin6+§cose)2dA
=1,sin*6+1, cos? 02l .sin6cosO
=(l.+1,)/2+(1,—1.)c0os20/2-1 . sin20

I, :”ysz:”(ncoseJrésin 0)(—nsin 6 + £ cos0)dA
=—1.sin@cosB—1,.sin“O+1,.cos’6 +1,sindcosd

=(l,-1.)sin20/2+1 . cos20

Y,z l,, =0
tan26 =21 /(I —1,) (1.29)
—n/4<0< /4
| I, -1
sin20 = — s c0S20 = — d.-1)

18



I +1, L-1) ,

I = > + > +1,. (1.30a)
| +1 I -1\

| = “2 i_\/( ”2 E’j +1,.° (1.30b)

n.§
(1.29) (1.30)
M,.M, (1.30)
(1.19)
n.§ n.§
(1.21)
z' t N
1. 'e’
1.13
‘\&___//’ y
y’ 1.13
y! Z!
AA (= tAs;) (i z)
1.3 (1.27) (Yo:24)

19



(1.28) En
En (1.21) (1.22)
1.13
(1.29) (1.30) (1.19)
1.3
Vi [z | DA AAY | AAZ | aay | aAz | AAZLY
Yo | 2o | Ay | DAY, | AAZ, | AALY,Y | AAZ, | DAZ,Y,
Yo | 7 | M| AAY [ AAZ | AAy | ARz | AALY,
Yo | 2o | M | A, [ AAZ | AA Ly | AAZ | AAZY,
A Sy Sy . ly 2y
y
p W 1.14

20




1.14

1 div/dx? w31
P he(viax) |
dv/dx
(1.31) (dv/dx)’
1/ p=—(d?v/dx?) (1.31)
b |
(1.1) 1
* flx)
y dZV (a} _'[
£=—=Y 42 (1.32) J
P ’ A l AEREE LIB
] P el
(1.5) };*dx*—
(1.31) )
__..!_4,___
d?v/dx =-M/(EI)  (1.33) I
sl ||
i F+(;—';dx
1.15 ® s
dx ( } L [ d
dX M F M+i—“d.x
dx

AHEBHRLZT R OEAWH LBITE- 22}
F +(dF /dx)dx — F — pdx = 0

dF/dx=f (1.34) 1,15

21



M +(dM /dx)dx — M — Fdx — fdx -dx /2 =0

dM /dx=F (1.35)

(1.34) (1.35)

d?M /dx? = f (1.36)
(1.33) X El
El(d*v/dx*)=—f (1.37)
M (1.33)
f
(1.37)
(dv/dx =0)

22



(concentrated load)
(distributed load)

v=0 dv/dx=0
M=0-—>d?/dx?*=0

<
Il
o

M=0-—>d?v/dx?*=0

F=0-d%/dx®*=0 (1.38)

(statically determinated beam)
(statically indeterminated beam)

14

(superposition)

23



14

M =—%folx+%fox2
" 12 v —_ 5f,l*
max — 8 e 384EI
1
Fras == Tl
M= Play (0<x<l,)
F>II P
M=-—2(1-x) (L<x<l,) R 1|
I PI®
M., :—%P " 8El
|
Pl [ lL=l,==
=T (|1:|z:§) (h=1, 2)
Frow =—P
M :%fox2
1 fol*
Foa = Tol
M = Px
.__Pr
M, =PI mx T T3E)
max _P
x> 5 I
M= f0(7—§lx+§)
1 ol
Moy === f% (x=0 =
g ° ( ) mex 184 .6EI
5
Frnax =§fo|
M = fo(%xz—%lx+l—2)
2
=P (x=0,1) Vpyr =l
12 e 384EI
fol
Fmax_To (X=O, I)
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